Online BDP Term End (Practical) Examinations : December 2020 & June 2021
&fzs loww  (Elective Course)

Practical
i Wl (Physics )
EPH-12 : Physics -l

Model Questions
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What will be the velocity of light in glass if R.I. of glass is 15 ?
Given velocity of light in vacuum = 3 x 108 m/s.
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R.I. of water is 3 and of glass is 3 What will be R,I. of glass in water ?
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At the position of minimum deviation of a prism, what will be the relation
between Angle of Incidence and Angle of Emergence ?
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What kind of image is produced by the telescope in pn— A experiment ?
@IS FHF T ot I 2

Which one represent Cauchy's relation ?
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Which relation is obeyed between coherent sources ?
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If diffraction experiment is observed in water instead of air, what changes
will be observed ?
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A grating is able to resolve two very close spectral lines of wavelengths
5890 A and 5896 A in its first order diffraction. The resolving power of
grating is close to..................
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Which phenomenon indicates wave nature of light ?
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Which one is correct in case of Fresnel diffraction ?
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To observe diffraction, the size of diffraction object should be..............
100 Q @& 220 V, 50 Hz ac 3OR AR & I 2@, @30 49 o0 mﬁ—m—r
O 2T ?

100 Q resistor is connected to 220 V, 50 Hz ac supply. What is the power
consumed over a full cycle ?
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The rms value of current in ac circuit is 10 A. What is the peak current ?
4 NI LCR-TEE S l[% F=01F F© QI @ 76419 L =2 H, C=32 pF @&k
R=10Q7?

The resonant frequency of a series LCR-circuit with L = 2 H, C = 32 uF
and R= 10 Q will be.................
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If C and R denote capacitance and resistance then dimension of CR is......
L =% %, R= @Y T, L/R 9T GFF QA ceverrrrrrrvnnnnn. |

The unit of L/ R, where L = inductance, R = resistance, iS.................. .
#AfoT® (impedance) €3 SATTICE T T eeeeeeeeeeeeennns |

Reciprocal of impedance is ....................
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In a series LCR circuit, the voltage across the resistance, capacitance and
inductance is 10 V each. If the capacitance is short circuited, the voltage
across the inductance will be......................

@& LCR 39417 Q-%F 0-4 I R=2kQ, C= 01MF®,L«W§@ ............ |

A series LCR circuit has quality factor ( Q factor) 0-4. If R = 2 kQ,
C = 0-1 uF, the value of inductance is...................
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The reactance of a capacitance C is x. If both the frequency and
capacitance be doubled, then new reactance will be................

LaamwwcﬁfﬁLCR ﬁzmﬂﬂ#ﬁwmwc- 10 pF ¢
o = 1000 sec ,R=20kQ ?

What is the value of inductance L for which the current in a series LCR
circuit with C= 10 pF, ® = 1000 sec_l, R = 20 kQ will be maximum ?
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One of the characteristics of an ideal Op-Amp iS .....c.cceeuenenn.

@I IBI Op-Amp-93 (A& o 3re (open loop gain) @3 TERT T 2T ...cceeennennens
What is the possible value of open loop gain of a practical Op-Amp ?

@3 S Op-Amp-93 T&F 295 [eq I *77 27, O @7 Wesb {3 2@ .......... |

With zero volts on both inputs, an ideal Op-Amp should have an
output...................
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If R,=1kQ and szlOO kQ , then closed loop voltage gain for non-

=100 kQ T, I& 641 e are (IF

inverting Op-Amp iS ....ccceeeveennens

Op-Amp 3 R3E ( =wfeE ) W"TT@_T“@' ....................
An Op-Amp can amplify ..................... .

Op-Amp-93 3975 SFEH U@ TH 2 cevveeeeeeennnnnnnn.

Input offset current of Op-Amp equals to the .......................

@35 wef Op-Amp @3 I3 21 3 | AW SIeo+s [eq12 V =7 @32 aaﬁ‘ﬁ?ﬁ;ﬁ?zv
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Ideal Op-Amp has gain = 3. If output voltage is 12 V and one input
voltage is 2 V, what will be its another input voltage ?

F-2F62 Op-AmpP—GF CFC .veenveeneeennne ol SO A & 41 27 |
In the non-inverting Op-Amp ................ is connected to the power source.
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What is relation between output and input of non-inverting Op-Amp ?

3 of 3



